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HTQEKT??E%%%)O iFZlZ(X, Y) @HjIEEE$
Q :4>§U\to¢§(-}=éo
X: TR X 0 1 E
0 DFIC (XD vE |
RIT5, 0 1/4 1/8 3/8
Y : RDEK
2DDIERTE (X, Y) D 1 1/4 2/8 4/8
HAIFEDESITEHESD,
0 P(X=x, Y=y) 2 0 1/8 1/8
=P(X=x)P(Y=y|X=X) .
i 1/2 1/2 1
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REEHESM  f(x,y)=P(X =xY =y)
BHER g(x)=P(X =x)=Y f(xy)

h(y)=P(Y =y)=2 f(xy)
FEEEATICHITHHEFE
E{p(X,Y)}= szzf(x, ))e(x. y)

Cov(X,Y )=EUX — 5 XY — 4, )y = BE(XY ) — 22 14,




[RIFFHER 3t EE B HERE D (3)
P Cov(X,Y)
HERE T WV(X)V(Y)
HAOEBOFEE XY DA
0 Cov(X,Y)>0=IXHAK->Y BXKIEGYHT LY,
0 Cov(X,Y)<0=IXHK-Y HB/MELGZYDPT LY,
5. R1DFEZE 7 Cov(X,Y) =1/8
MHEARHBDIE: -1<p,, <1
0 Pyy DY 1 [T3ELY, = Y =a+ bX (b>0) [Tl
0 Pyy DY -1 1Z3ELY, = Y =a + bX (b<0) [ZHELY,
0 Pyy DY O IT3ELY, = EEFERES
5. RIDFEE 57 pyy =1/N7=0.38
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g(x|y)=P(X =x|Y =y)= P(X=xY=y)_ f(xy)

(P(Y=y) )_ ?(Y))
P(X =x,Y = f (X,
h(y [x)=P(Y =y [ X =x)= p(xzx)y ) 9(X§/

o Bl RI1IDEZE S
g(x|y)Z=KkH 5 :
0 g(0]0)=(1/4)/(3/8)=2/3, g(1|0)=(1/8)/(3/8)=1/3; g(0|0)+g(1[0)=1
0 g(0]1)=(1/4)/(4/8)=1/2, g(1|1)=(2/8)/(4/8)=1/2; g(0|1)+g(1|1)=1
0 g(0[2)=0/(1/8)=0, g(1]2)=(1/8)/(1/8)=1 g(0|2)+g(1[2)=1
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< g(x|y)=g(x)<=h(y|x)=h(y)

0 RIDBE . (X, Y) (L TIEALY:
f(1,2) = 1/8 # 1/2 x 1/8 = g(1) h(2)

a f(0,1)=1/4=1/2 x 4/8 =g(0) xh(1) TlEHBITNEE. [E
D &7 X, y ITDWTHIRRYIL == T IR,

0 RISEHEZE p. 143)DEE. (X, Y) [FMHIITHS,

2ODHAIAADHE (X, Y):
o f(x,y) =1/36 = 1/6 X 1/6 = g(x) h(y)



LRV A

N

3L(2)

BRI
o IXDOHEAEY OEANERZRTHS
2D DREREHAII THNIL.
E(XY )=E(X)E(Y)
a0 CcDIEML,
Cov(X,Y)=E(XY)-E(X)E(Y)=0
DFEY, 2D DHERLEHH I |

= H M0 TFEEH LY
MEYILD,




ST A RE R TS R DAL

n BEOEREE X (i=1,2,...,n)DIRIIL

F (XX, %)= 0,(%)9,(%; )-8, (X,)
n1lE0)<zma¢r5Ebm\>ﬁE$ > HOFIDEAFE

(3%, )= 3Ex)
N BRI REER DD

v[iznl:xij — ;V(Xi)




WA RER T B DFIR)

X ML ICE— DR mIZL=D 545, #iF
E-DENTARTO i [2DWWTRULIZESD T,

E

V

o Bl RNILX—ATEREZEHDF
LR — A SIS R x:{

/ n

\_i=1

> x

/ n
2%

\_i=1

N

J

\
J
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X, SR ISR THAIE,

X = Zx ~ Bi(n, p)
Lt=pioT.
E(X)=np

V(X)=np(@-p)
HEIT:-“EHI>TOBAEMN

Bi(n,p): X =>_" X, 7=7ZL X, ~Bernoulli(p)

=1 I

Bi(m, p):Y = Z Y. 7=72L Y, ~Bemoulli(p)

j=1 J

Z=X+Y=>" X;+> " Y, ~Bi(n+m,p)

j=1 |
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L7ehH>T, W~ N(ZI_C,,U, Z—l' )

14



IS ERZ O F(6)

L EIZ ARSI — D ERS LAY,
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X, ~ N(,u, 02)

n n 1 1 n 5
W = Zi:lc' Xi - Zi_l(ﬁjxi - _Zizlxi =X
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X =W ~ N(z,0%/n)
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